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NS: FRBCE ZI3c#BE0) 6 6 NS: B335 =Kii(BAC) -9 | 15.23 : 4.77 Total VP: 59.87 Rank:
EW: BEEISZ FREIEIC) 9 EW: [RE 3 BR55#i(BAO) -6| IMP:| 24 9 3
o
» 983 5CXS-3 -500 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HW6 -680 Mean: 4HW6 680 7.0 5
v 72 2DW3 -110 -70  3CS3 110 50 1 v K8 4HW6 -680 -960  5HE7 710 6.0 1
* QJ72 Dif: -390 NS:-10 2DW-1 100 50 1 + 653 Dif: 0 NS:7  4HW7 710 6.0 2
& A763 IMP: -9 EW:1 3CS-1 50 1.0 4 » K984 IMP: 0 EW:-7 4HE7 710 6.0 1
# 7654 4Cs-2 100 1.0 1 ||a A8 » KJ94 6HW6 1430 -100 2
v AKJ85 2DW3 110 1.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -11.0 3
— + 986 3HE3 140 20 2 ||e A974 ¢ KJ
T 3NXN-2  -300 -6.0 1 A » JT73
a AT2 5CXS-3 500 -10.0 1 FOVABN 4732
v 643 N ~~~~~ v T5
+ K S ~~~~~ ¢ QT82
& KQ8542 E ~~7~6 & Q652
W ~~7~6
a5 4SW4 -420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2SN-1-100 Mean: 4HW-1 50 40 1
v T86 4SW5 -450 -290  3NE3 400 30 1 v T984 2HE3 -140 -110  3SW-1 50 40 1
« J9632 Dif: 30 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 40 NS:0 3NE-1 50 40 2
& QJ98 IMP: 1 EW:4 4sw4 420 -40 5 & J IMP: 1 EW:1 2SN-1 4100 0.0 2
a 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v J93 v AQJ752 | v 6 2HE3 140 1.0 2
+ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
& K54 2HN2 110 Mean: 2SE-2 200 70 1 # 14 4 J63 1NN3 150 Mean: 2DN4 130 20 1
v AT42 3NN-4 -400 -100 2SE-1 100 50 1 v A963 1NN2120 70  1NS2 120 20 1
+ A62 Dif: 510 NS:5 2HS2 110 50 1 ¢ 9652 Dif: 30 NS:2 1NN3 150 20 1
» K32 IMP: 11  EW:7 2HN2 110 50 1 » Q8 IMP: 1 EW:-2 1NN2 120 20 2
\ 4 Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 2SW2 110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
+ * Q5 2HS-1 100 00 3 ||e A873 * KJ 1NN1 90 1.0 1
» T54 2HN-1 <100 00 1 ||a 54 » KT9763 1HS1 80 00 1
» J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
v QJ96 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
¢ J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
* AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W 1~~~~
»93 4SW-1 50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3HW-1 100 Mean: 4HXE-2 500 11.0 1
v 842 4SW4 -420 -60  4SE-1 50 30 1 v A932 2NE-1100 © 3NE-3 300 70 1
+ 873 Dif: 470 NS:3  4HW-1 50 30 1 + J876 Dif: 0 NS:3 5CXE-1 200 50 1
& AK753 IMP: 10 EW:8 4HE-1 50 30 3 &6 IMP: 0 EW:-3 4HW-2 200 50 1
~ JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v KJT3 4sw4 -420  -80 3 ||w J8764 — v KT5 3HW-1 100 30 2
¢ 54 . * K942 2NE-1 100 30 1
» J96 » Q92 & AJ8754 2NE2 120 -3.0 1
» 62 % ¢ VAN 46532 3HW3 140 40 1
v 96 N~2~~~9Q 3CE4 430 -40 1
+ AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
& T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W 4~3~-~




112 F 4 >2FMBERF SR

® ==> Rb

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

2 NS: SR5AHE Z=$HER(BHO) -32 8 NS: HBEE £ERA(BAC) -9 3.54 16.46 | Total VP: 50.75 Rank:
EW: B B0E SR EEIC) 9 EW: #iRE EEE(B0) 32 IMP:| 3 23 5
I o -
#9 » 983 3CS-1-50 Mean: 3DW-1 100 50 2 [[#10 » QT65 6HW?7 -1460 Mean: 4HW6 680 7.0 5
v 72 3HE3 -140 -70  3CS3 110 50 1 v K8 6HW6 -1430 -960  5HE7 710 6.0 1
* QJ72 Dif: 90 NS:1  2DW-1 100 50 1 + 653 Dif: -30 NS:-11 4HW7 710 6.0 2
& A763 IMP: 3 EW:2 3CS-1 50 1.0 4 » K984 IMP: -1 EW:10 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 -420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2HE4 -170 Mean: 4HW-1 50 40 1
v T86 4SW4 -420 -290 3NE3 400 30 1 v T984 2HE3 -140 -110  3SW-1 50 40 1
« J9632 Dif: 0 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: -30 NS:-2 3NE-1 50 40 2
& QJ98 IMP: 0 EW:4 4sw4 420 -40 5 & J IMP: -1 EW:1  2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 3HN-2 -200 Mean: 2SE-2 200 70 1 # 14 4 J63 2CE-150 Mean: 2DN4 130 20 1
v AT42 2SE-2200 -100 2SE-1 100 50 1 v A963 1NS2120 70  1NS2 120 20 1
+ A62 Dif: -400 NS:-3 2HS2 110 50 1 ¢ 9652 Dif: =70 NS:-1  1NN3 150 20 1
» K32 IMP: -9 EW:-7 2HN2 110 50 1 » Q8 IMP: -2 EW:-2 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW4 -420 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3CE4 -130 Mean: 4HXE-2 500 11.0 1
v 842 4HE-150 -60  4SE-1 50 30 1 v A932 3HW3-140 o0 3NE-3 300 70 1
¢ 873 Dif: -470 NS:-8 4HW-1 50 30 1 + J876 Dif: 10 NS:-4 5CXE-1 200 50 1
& AK753 IMP: -10 EW:-3 4HE-1 50 30 3 &6 IMP: 0 EW:4 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~
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#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

3 NS: 83222 PRFIRGH0) 3 1 O NS: BB REE(BAC) 14| 6.88 13.12| Total VP: 49.57 Rank:
EW: HRELNE FRMEEEAC) -14 EW: 235" fattE(BJO) -3| IMP:| 13 21 6
I o
#9 » 983 3CS-1-50 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HW6 -680 Mean: 4HW6 680 7.0 5
v 72 4CS-2-100 -70  3CS3 110 50 1 v K8 4HW6 -680 -960  5HE7 710 6.0 1
* QJ72 Dif: 50 NS:1  2DW-1 100 50 1 + 653 Dif: 0 NS:7  4HW7 710 6.0 2
& A763 IMP: 2 EW:1 3CS-1 50 1.0 4 » K984 IMP: 0 EW:-7 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW-1 50 Mean: 4SW-1 50 80 4 ||#12 & AT972 4SN-3 -300 Mean: 4HW-1 50 40 1
v T86 4SW5 -450 -290 3NE3 400 30 1 v T984 4HW-150 -110 3SW-1 50 40 1
« J9632 Dif: 500 NS:8 4SW5 450 -40 3 ¢ T54 Dif: -350 NS:-5 3NE-1 50 40 2
& QJ98 IMP: 11 EW:4 4Sw4 420 -40 5 & J IMP: -8 EW:-4 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 2HN-1 -100 Mean: 2SE-2 200 70 1 # 14 4 J63 1NN1 90 Mean: 2DN4 130 20 1
v AT42 2HS-1-100 -100 2SE-1 100 50 1 v A963 1NN2120 70  1NS2 120 20 1
+ A62 Dif: 0 NS:0 2HS2 110 50 1 ¢ 9652 Dif: -30 NS:1 1NN3 150 20 1
» K32 IMP: 0 EW:0 2HN2 110 50 1 » Q8 IMP: -1 EW:-2 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4HW-1 50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 5CE5 -600 Mean: 4HXE-2 500 11.0 1
v 842 4SW-150 -60  4SE-1 50 30 1 v A932 4HW-1100 o0 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: -700 NS:-12 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: -12 EW:-3 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
* VAN 462 * ¢ VAN 4,653 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~
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#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 PR E2(59.87)

4 NS: £Z#5% EiE4(BE0) 6 1 2 NS: #B{E3E HFER(EIC) 32| 3.32 16.68 | Total VP: 49.00 Rank:
EW: JF;MM‘\ HBEBEEAC) -32 EW: ZZ8Ei8 £I3%7K(BAO) -6| IMP:| 9 30 7
A
#9 'y 983 3NXN-2 -300 Mean: 3DW-1 100 50 2 [[#10 » QT65 5HE7 -710 Mean: 4HW6 680 7.0 5
v 72 3DW-1100 -70 3CS3 110 50 1 v K8 4HW6 -680 -960  5HE7 710 6.0 1
* QJ72 Dif: -400 NS:-6 2DW-1 100 50 1 + 653 Dif: -30 NS:6 4HW7 710 6.0 2
& A763 IMP: -9 EW:-5 3CS-1 50 1.0 4 » K984 IMP: -1 EW:-7 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SE4 -420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2SN-1-100 Mean: 4HW-1 50 40 1
v T86 4SW-150 -290 3NE3 400 30 1 v T984 3HW4 -170 -110  3SW-1 50 40 1
« J9632 Dif: -470 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 70 NS:0 3NE-1 50 40 2
& QJ98 IMP: -10 EW:-8 4SW4 420 -40 5 &J IMP: 2 EW:2 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 3HS-3 -300 Mean: 2SE-2 200 70 1 # 14 4 J63 1NS1 90 Mean: 2DN4 130 20 1
v AT42 2SE-1100 -100 2SE-1 100 50 1 v A963 2HN2 110 70  1NS2 120 20 1
+ A62 Dif: -400 NS:-5 2HS2 110 50 1 ¢ 9652 Dif: 20 NS:1  1NN3 150 20 1
» K32 IMP: -9 EW:-5 2HN2 110 50 1 » Q8 IMP: -1 EW:-1  1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SE-150 Mean: 4SW-1 50 30 5 ||#16 s QJT7 4HXE-2 500 Mean: 4HXE-2 500 11.0 1
v 842 4SW-150 -60  4SE-1 50 30 1 v A932 4HW-2200 o0 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: 300 NS:11 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: 7 EW:-5 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~
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#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

5 NS: 82 BEFGHO) 7 1 1 NS: BRZEE FIEB(BAC) 3 11.67 : 8.33 Total VP: 45.85 Rank:
EW: BEEEE =EHE(EAC) -3 EW: EFfZ STRMA(BAO) -7| IMP:| 24 20 9
I o -
#9 » 983 3DW-1 100 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HW?7 -710 Mean: 4HW6 680 7.0 5
v 72 3CS-1-50 -70  3CS3 110 50 1 v K8 6HW7 -1460 -960 5HE7 710 6.0 1
* QJ72 Dif: 150 NS:5 2DW-1 100 50 1 + 653 Dif: 750 NS:6 4HW7 710 6.0 2
& A763 IMP: 4 EW:-1  3CS-1 50 1.0 4 » K984 IMP: 13 EW:11 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NE3 -400 Mean: 4SW-1 50 80 4 ||#12 & AT972 3NE4 -430 Mean: 4HW-1 50 40 1
v T86 4SW-150 -290 3NE3 400 30 1 v T984 3SW-150 -110  3SW-1 50 40 1
« J9632 Dif: -450 NS:-3 4SW5 450 -40 3 ¢ T54 Dif: -480 NS:-8 3NE-1 50 40 2
& QJ98 IMP: -10 EW:-8 4SW4 420 -40 5 »J IMP: -10 EW:-4 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 2HS-1-100 Mean: 2SE-2 200 70 1 # 14 4 J63 2HN-1 -50 Mean: 2DN4 130 20 1
v AT42 2HS-1-100 -100 2SE-1 100 50 1 v A963 3HN-2-100 70  1NS2 120 20 1
+ A62 Dif: 0 NS:0 2HS2 110 50 1 ¢ 9652 Dif: 50 NS:-3 1NN3 150 20 1
» K32 IMP: 0 EW:0 2HN2 110 50 1 » Q8 IMP: 2 EW:5 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4HE-1 50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3NE-3 300 Mean: 4HXE-2 500 11.0 1
v 842 4SW-150 -60  4SE-1 50 30 1 v A932 4HW-1100 o0 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: 200 NS:7 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: 5 EW:-3 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~
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#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

6 NS: FE3 =AmEIC) -9 1 NS: SBEUIR 2I3C#:(H0) 6 4.77 15.23 | Total VP: 38.05 Rank:
EW: BEE S BE3tir(BH0) -6 EW: FREI E2E(BAC) 9 IMP:| 9 24 1
I o
#9 » 983 5CXS-3 500 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HW6 680 Mean: 4HW6 680 7.0 5
v 72 2DW3 110 -70 3CS3 110 50 1 v K8 4HW6 680 -960 5HE7 710 6.0 1
* QJ72 Dif: 390 NS:-1  2DW-1 100 50 1 + 653 Dif: 0 NS:7  4HW7 710 6.0 2
& A763 IMP: 9 EW:10 3CS-1 50 1.0 4 » K984 IMP: 0 EW:-7 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2SN-1100 Mean: 4HW-1 50 40 1
v T86 4SW5 450 -290 3NE3 400 30 1 v T984 2HE3 140 -110  3SW-1 50 40 1
« J9632 Dif: -30 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: -40 NS:-1  3NE-1 50 40 2
& QJ98 IMP: -1 EW:4 4Sw4 420 -40 5 & J IMP: -1 EW:0 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 2HN2 -110 Mean: 2SE-2 200 70 1 # 14 4 J63 1NN3 -150 Mean: 2DN4 130 20 1
v AT42 3NN-4 400 -100 2SE-1 100 50 1 v A963 1NN2-120 70  1NS2 120 20 1
+ A62 Dif: -510 NS:-7 2HS2 110 50 1 ¢ 9652 Dif: -30 NS:2 1NN3 150 20 1
» K32 IMP: -11 EW:-5 2HN2 110 50 1 » Q8 IMP: -1 EW:-2 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW-1-50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3HW-1-100 Mean: 4HXE-2 500 11.0 1
v 842 4SW4 420 -60  4SE-1 50 30 1 v A932 2NE-1-100 © 3NE-3 300 70 1
¢ 873 Dif: -470 NS:-8 4HW-1 50 30 1 + J876 Dif: 0 NS:3 5CXE-1 200 50 1
& AK753 IMP: -10 EW:-3 4HE-1 50 30 3 &6 IMP: 0 EW:-3 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR

& ==> RS

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 PR E2(59.87)

7 NS: BRfftE SRiEREGEHO) -1 1 3 NS: g7t Z=HRZ(BAC) 28 1.79 18.21| Total VP: 34.76 Rank:
EW: ﬁg{_ Fﬁ%ﬁg(ﬁﬁc) 28 EW: #5518 E15E(BA0) 1 IMP:| 0 29 13
I
#9 'y 983 3HE3 -140 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HE7 -710 Mean: 4HW6 680 7.0 5
v 72 3CS3110 -70  3CS3 110 50 1 v K8 4HW7 -710 -960  5HE7 710 6.0 1
* QJ72 Dif: -250 NS:-2 2DW-1 100 50 1 + 653 Dif: 0 NS:6 4HW7 710 6.0 2
& A763 IMP: -6 EW:-5 3CS-1 50 1.0 4 » K984 IMP: 0 EW:-6 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SWS5 -450 Mean: 4SW-1 50 80 4 ||#12 & AT972 3NE-150 Mean: 4HW-1 50 40 1
v T86 4SW-150 -290 3NE3 400 30 1 v T984 3NE-150 -110  3SW-1 50 40 1
« J9632 Dif: -500 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 0 NS:4 3NE-1 50 40 2
& QJ98 IMP: -11 EW:-8 4SW4 420 -40 5 &J IMP: 0 EW:-4 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 3HN-1 -100 Mean: 2SE-2 200 70 1 # 14 4 J63 1HS1 80 Mean: 2DN4 130 20 1
v AT42 2SW2 -110 -100  2SE-1 100 50 1 v A963 2DN4 130 70  1NS2 120 20 1
+ A62 Dif: 10 NS:0 2HS2 110 50 1 ¢ 9652 Dif: -50 NS:0 1NN3 150 20 1
» K32 IMP: 0 EW:0 2HN2 110 50 1 » Q8 IMP: -2 EW:-2 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW4 -420 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3HW-1 100 Mean: 4HXE-2 500 11.0 1
v 842 3SW3 -140 -60  4SE-1 50 30 1 v A932 5CXE-1200 o 3NE-3 300 70 1
¢ 873 Dif: -280 NS:-8 4HW-1 50 30 1 + J876 Dif: -100 NS:3 5CXE-1 200 50 1
& AK753 IMP: -7 EW:2 4HE-1 50 30 3 &6 IMP: -3 EW:-5 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR

® ==> Rb

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

8 NS: E&H ERAREIC) 9 2 NS: %50 ZFAZ(BAO) -31 16.46 : 3.54 Total VP: 36.54 Rank:
EW: #5E5 EZZEI0) 32 EW: Ep & SE&A(BAC) 9 IMP:| 23 3 12
I o -
#9 » 983 3CS-150 Mean: 3DW-1 100 50 2 [[#10 » QT65 6HW?7 1460 Mean: 4HW6 680 7.0 5
v 72 3HE3140 -70  3CS3 110 50 1 v K8 6HW6 1430 -960 5HE7 710 6.0 1
* QJ72 Dif: -90 NS:-2 2DW-1 100 50 1 + 653 Dif: 30 NS:-10 4HW7 710 6.0 2
& A763 IMP: -3 EW:-1  3CS-1 50 1.0 4 » K984 IMP: 1 EW:11 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 -20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2HE4 170 Mean: 4HW-1 50 40 1
v T86 4SW4 420 -290 3NE3 400 30 1 v T984 2HE3 140 -110  3SW-1 50 40 1
« J9632 Dif: 0 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 30 NS:-1  3NE-1 50 40 2
& QJ98 IMP: 0 EW:4 4sw4 420 -40 5 & J IMP: 1 EW:2 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 3HN-2 200 Mean: 2SE-2 200 70 1 # 14 4 J63 2CE-1-50 Mean: 2DN4 130 20 1
v AT42 2SE-2 -200 -100  2SE-1 100 50 1 v A963 1NS2-120 70  1NS2 120 20 1
+ A62 Dif: 400 NS:7 2HS2 110 50 1 ¢ 9652 Dif: 70 NS:2 1NN3 150 20 1
» K32 IMP: 9 EW:3 2HN2 110 50 1 » Q8 IMP: 2 EW:1 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2 ~2~~ 9 QJ9 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW4 420 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3CE4 130 Mean: 4HXE-2 500 11.0 1
v 842 4HE-1-50 -60  4SE-1 50 30 1 v A932 3HW3140 o 3NE-3 300 70 1
¢ 873 Dif: 470 NS:3  4HW-1 50 30 1 + J876 Dif: -10 NS:-4 5CXE-1 200 50 1
& AK753 IMP: 10 EW:8 4HE-1 50 30 3 &6 IMP: 0 EW:4 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 -600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR

® ==> Rb

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

9 NS: ¥i5kz EEBIEGHO) -27 14 NS: 2B s BREZR(BAC) -7 3.54 : 16.46 Total VP: 34.33 Rank:
EW: £ 55 BEAZEEAC) 7 EW: BIE#E RERZ(BAO) 27 IMP:| 4 24 14
I o -
#9 » 983 2DW-1 100 Mean: 3DW-1 100 50 2 [[#10 » QT65 6HW?7 -1460 Mean: 4HW6 680 7.0 5
v 72 3CS-1-50 -70  3CS3 110 50 1 v K8 6HW6 -1430 -960  5HE7 710 6.0 1
* QJ72 Dif: 150 NS:5 2DW-1 100 50 1 + 653 Dif: -30 NS:-11 4HW7 710 6.0 2
& A763 IMP: 4 EW:-1 3CS-1 50 1.0 4 » K984 IMP: -1 EW:10 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 v QJ9643 _I_ v A72 6HW7 -1460 -11.0 3
¢ AT543 — + 986 3HE3 140 -20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 -420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2HW2 -110 Mean: 4HW-1 50 40 1
v T86 4SW4 -420 -290 3NE3 400 30 1 v T984 2HW2 -110 -110  3SW-1 50 40 1
« J9632 Dif: 0 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 0 NS:0 3NE-1 50 40 2
& QJ98 IMP: 0 EW:4 4sw4 420 -40 5 & J IMP: 0 EW:0 2SN-1 4100 0.0 2
& AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
+ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ ¢ A72
E 232~2 aAT852
W 232~2
#13 & K54 3HXS-2 -500 Mean: 2SE-2 200 70 1 # 14 4 J63 1NS1 90 Mean: 2DN4 130 20 1
v AT42 2HS2110 -100  2SE-1 100 50 1 v A963 1NS190 70  1NS2 120 20 1
+ A62 Dif: -610 NS:-9 2HS2 110 50 1 ¢ 9652 Dif: 0 NS:1  1NN3 150 20 1
» K32 IMP: -12 EW:-5 2HN2 110 50 1 » Q8 IMP: 0 EW:-1  1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 a Q92 2HN2 110 1.0 1
v K8753 25W2 110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2 ~2~~ 9 QJ9 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW-1 50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 4HW4 -620 Mean: 4HXE-2 500 11.0 1
v 842 4HE-150 -60  4SE-1 50 30 1 v A932 2NE2-120 © 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3 4HW-1 50 30 1 + J876 Dif: -500 NS:-12 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: -11 EW:3  4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
* VAN 462 * ¢ VAN 4,653 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 -600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR

® ==> Rb

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

1 O NS: B BEEEAC) 14 3 NS: £8&%Z MKIB(FHO0) 3 13.12 : 6.88 Total VP: 56.58 Rank:
EW: B5A{= fa[HEZE(BEO) -3 EW: M EE sRiZZE(BAC) 1 IMP:| 21 13 4
I o
#9 # 983 3CS-150 Mean: 3DW-1 100 50 2 (|#10 » QT65 4HWG6 680 Mean: 4HW6 680 7.0 5
v 72 4CS-2100 -70  3CS3 110 50 1 v K8 4HW6 680 -960 5HE7 710 6.0 1
* QJ72 Dif: -50 NS:-1  2DW-1 100 50 1 + 653 Dif: 0 NS:7  4HW7 710 6.0 2
& A763 IMP: -2 EW:-1 3CS-1 50 1.0 4 » K984 IMP: 0 EW:-7 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW-1 -50 Mean: 4SW-1 50 80 4 ||#12 & AT972 4SN-3 300 Mean: 4HW-1 50 40 1
v T86 4SW5 450 -290 3NE3 400 30 1 v T984 4HW-1 -50 -110  3SW-1 50 40 1
« J9632 Dif: -500 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 350 NS:4 3NE-1 50 40 2
& QJ98 IMP: -11 EW:-8 4SW4 420 -40 5 &J IMP: 8 EW:5 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 2HN-1 100 Mean: 2SE-2 200 70 1 # 14 4 J63 1NN1 -90 Mean: 2DN4 130 20 1
v AT42 2HS-1100 -100 2SE-1 100 50 1 v A963 1NN2-120 70  1NS2 120 20 1
+ A62 Dif: 0 NS:0 2HS2 110 50 1 ¢ 9652 Dif: 30 NS:2 1NN3 150 20 1
» K32 IMP: 0 EW:0 2HN2 110 50 1 » Q8 IMP: 1 EW:-1  1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4HW-1 -50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 5CE5 600 Mean: 4HXE-2 500 11.0 1
v 842 4SW-1-50 -60  4SE-1 50 30 1 v A932 4HW-1-100 o0 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: 700 NS:3 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: 12 EW:12 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
* VAN 462 * ¢ VAN 4,653 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR

® ==> Rb

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

1 1 NS: BZEE #EEEIC) 3 5 NS: i222 BRES(H0) 7 8.33 11.67 | Total VP: 72.38 Rank:
EW: M=% T INEE0) -7 EW: [REE S (BAC) -3 IMP:| 20 24 2
I o -
#9 » 983 3DW-1-100 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HW7 710 Mean: 4HW6 680 7.0 5
v 72 3CS-150 -70  3CS3 110 50 1 v K8 6HW7 1460 -960 5HE7 710 6.0 1
* QJ72 Dif: -150 NS:1  2DW-1 100 50 1 + 653 Dif: -750 NS:-11 4HW7 710 6.0 2
& A763 IMP: -4 EW:-5 3CS-1 50 1.0 4 » K984 IMP: -13 EW:-6 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 3NE3 400 Mean: 4SW-1 50 80 4 ||#12 & AT972 3NE4 430 Mean: 4HW-1 50 40 1
v T86 4SW-1-50 -290 3NE3 400 30 1 v T984 3SW-1-50 -110  3SW-1 50 40 1
« J9632 Dif: 450 NS:8 4SW5 450 -40 3 ¢ T54 Dif: 480 NS:4 3NE-1 50 40 2
& QJ98 IMP: 10 EW:3 4sw4 420 -40 5 »J IMP: 10 EW:8 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 2HS-1100 Mean: 2SE-2 200 70 1 # 14 4 J63 2HN-1 50 Mean: 2DN4 130 20 1
v AT42 2HS-1100 -100 2SE-1 100 50 1 v A963 3HN-2100 70  1NS2 120 20 1
+ A62 Dif: 0 NS:0 2HS2 110 50 1 ¢ 9652 Dif: -50 NS:-5 1NN3 150 20 1
» K32 IMP: 0 EW:0 2HN2 110 50 1 » Q8 IMP: -2 EW:3 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4HE-1 -50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3NE-3 -300 Mean: 4HXE-2 500 11.0 1
v 842 4SW-1-50 -60  4SE-1 50 30 1 v A932 4HW-1-100 o0 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: -200 NS:3 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: -5 EW:-7 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
* VAN 462 * ¢ VAN 4,653 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR
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#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 PR E2(59.87)

1 2 NS: f3{EE SHFEEEAC) 32 4 NS: 8#HX WBIF#(FH0) 6 16.68 : 3.32 Total VP: 48.18 Rank:
EW: ZEREJR BE/KBEO) -6 EW: MER BHBIR(EAC) -3 IMP:| 30 9 8
I A
#9 » 983 3NXN-2 300 Mean: 3DW-1 100 50 2 [[#10 » QT65 5HE7 710 Mean: 4HW6 680 7.0 5
v 72 3DW-1-100 -70  3CS3 110 50 1 v K8 4HW6 680 -960 5HE7 710 6.0 1
* QJ72 Dif: 400 NS:5 2DW-1 100 50 1 + 653 Dif: 30 NS:7 4HW7? 710 6.0 2
& A763 IMP: 9 EW:6 3CS-1 50 1.0 4 » K984 IMP: 1 EW:-6 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SE4 420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2SN-1100 Mean: 4HW-1 50 40 1
v T86 4SW-1-50 -290 3NE3 400 30 1 v T984 3HW4 170 -110  3SW-1 50 40 1
« J9632 Dif: 470 NS:8 4SW5 450 -40 3 ¢ T54 Dif: -70 NS:-2 3NE-1 50 40 2
& QJ98 IMP: 10 EW:4 4Sw4 420 -40 5 & J IMP: -2 EW:0 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 3HS-3 300 Mean: 2SE-2 200 70 1 # 14 4 J63 1NS1 -90 Mean: 2DN4 130 20 1
v AT42 2SE-1-100 -100  2SE-1 100 50 1 v A963 2HN2 -110 70  1NS2 120 20 1
+ A62 Dif: 400 NS:5 2HS2 110 50 1 ¢ 9652 Dif: 20 NS:1 1NN3 150 20 1
» K32 IMP: 9 EW:5 2HN2 110 50 1 » Q8 IMP: 1 EW:-1  1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SE-1-50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 4HXE-2 -500 Mean: 4HXE-2 500 11.0 1
v 842 4SW-1-50 -60  4SE-1 50 30 1 v A932 4HW-2-200 o0 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: -300 NS:5 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: -7 EW:-11 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




112 F 4 >2FMBERF SR

® ==> Rb

#1: 13 JEH(79.07) #2: 11 BE>Z%(72. 38) #3 1 Elﬁﬁ‘tﬁ?)((w 87)

1 3 NS: 22T EHBERC) 28 7 NS: RS RERE(BRO) -1 18.21 1.79 Total VP: 79.07 Rank:
EW: ﬁ%ﬁﬁ,ﬁ ﬁ{‘“ﬁ'%(ﬁﬁon EW: EE{_ BREAHE(BAC) -2 IMP:| 29 0 1
o I
#9 'y 983 3HE3 140 Mean: 3DW-1 100 50 2 [[#10 » QT65 4HE7 710 Mean: 4HW6 680 7.0 5
v 72 3CS3-110 -70  3CS3 110 50 1 v K8 4HW7 710 -960 5HE7 710 6.0 1
* QJ72 Dif: 250 NS:5 2DW-1 100 50 1 + 653 Dif: 0 NS:6 4HW7 710 6.0 2
& A763 IMP: 6 EW:2 3CS-1 50 1.0 4 » K984 IMP: 0 EW:-6 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW5 450 Mean: 4SW-1 50 80 4 ||#12 & AT972 3NE-1 -50 Mean: 4HW-1 50 40 1
v T86 4SW-1-50 -290 3NE3 400 30 1 v T984 3NE-1-50 -110  3SW-1 50 40 1
« J9632 Dif: 500 NS:8 4SW5 450 -40 3 ¢ T54 Dif: 0 NS:4 3NE-1 50 40 2
& QJ98 IMP: 11 EW:4 4Sw4 420 -40 5 & J IMP: 0 EW:-4 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 3HN-1 100 Mean: 2SE-2 200 70 1 # 14 4 J63 1HS1 -80 Mean: 2DN4 130 20 1
v AT42 2SW2 110 -100 2SE-1 100 50 1 v A963 2DN4 -130 70  1NS2 120 20 1
+ A62 Dif: 10 NS:0 2HS2 110 50 1 ¢ 9652 Dif: 50 NS:2 1NN3 150 20 1
» K32 IMP: 0 EW:0 2HN2 110 50 1 » Q8 IMP: 2 EW:0 1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW4 420 Mean: 4SW-1 50 30 5 ||#16 s QJT7 3HW-1-100 Mean: 4HXE-2 500 11.0 1
v 842 3SW3140 -60  4SE-1 50 30 1 v A932 5CXE-1-200 © 3NE-3 300 70 1
¢ 873 Dif: 280 NS:-2 4HW-1 50 30 1 + J876 Dif: 100 NS:5 5CXE-1 200 50 1
& AK753 IMP: 7 EW:8 4HE-1 50 30 3 &6 IMP: 3 EW:-3 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




1123 Ed 2RpERF

® ==> Rb

1: 13 JEH (79.07) #2: 11 BB R (2. 38) #3 1 @ﬁﬁﬁ?)’l(@ 87)

1 4 NS: Eh sl ]I;ﬁ,g- REHC) -7 9 NS: Bk = EEBNEE(BRO) -21 16.46 : 3.54 Total VP: 45.07 Rank:
EW: EiEHE 22 (EHO) 27 EW: 2ZH R#ER(BC) 7 IMP:| 24 4 10
I o -
#9 » 983 2DW-1 -100 Mean: 3DW-1 100 50 2 [[#10 » QT65 6HW?7 1460 Mean: 4HW6 680 7.0 5
v 72 3CS-150 -70  3CS3 110 50 1 v K8 6HW6 1430 -960 5HE7 710 6.0 1
* QJ72 Dif: -150 NS:1  2DW-1 100 50 1 + 653 Dif: 30 NS:-10 4HW7 710 6.0 2
& A763 IMP: -4 EW:-5 3CS-1 50 1.0 4 » K984 IMP: 1 EW:11 4HE7 710 6.0 1
» KQJ #» 7654 4CS-2 100 1.0 1 ||s A8 » KJ94 6HW6 1430 -10.0 2
v QT9 v AKJ85 2DW3 110 1.0 1 | |v QJ9643 _I_ v A72 6HW7 1460 -11.0 3
¢ AT543 — + 986 3HE3 140 20 2 ||e A974 * KJ
& J9 T 3NXN-2  -300 -6.0 1 A » JT73
¢ VAN 4AT2 5CXS-3 500 -10.0 1 FOVABN 4732
N 2~~~1 9643 N ~~~~~ v T5
S 2~~~1 ¢K S ~~~~~ ¢ QT82
E ~ 232~ &KQ8542 E ~~7~6 & Q652
W ~232~ W ~~7~6
# 11 a5 4SW4 420 Mean: 4SW-1 50 80 4 ||#12 & AT972 2HW2 110 Mean: 4HW-1 50 40 1
v T86 4SW4 420 -290 3NE3 400 30 1 v T984 2HW2 110 -110  3SW-1 50 40 1
« J9632 Dif: 0 NS:-4 4SW5 450 -40 3 ¢ T54 Dif: 0 NS:0 3NE-1 50 40 2
& QJ98 IMP: 0 EW:4 4sw4 420 -40 5 & J IMP: 0 EW:0 2SN-1 4100 0.0 2
» AJ8432 a~ 97 4SE4 420 -40 1 ||as J65 » KQ 2HW2 4110 0.0 2
v A54 v J93 v AQJ752 I v6 2HE3 140 1.0 2
¢ AK87 ¢ Q93 + KJ86 3HW4 170 2.0 1
a AT76 7 » KQ9643 2HE4 470 20 1
*eVAN o843 4SN-3 300 -5.0 1
N ~~~~~ v K3 3NE4 430 8.0 1
S ~~~~~ * AT2
E 232~2 aAT852
W 232~2
#13 & K54 3HXS-2 500 Mean: 2SE-2 200 70 1 # 14 4 J63 1NS1 -90 Mean: 2DN4 130 20 1
v AT42 2HS2 -110 -100  2SE-1 100 50 1 v A963 1NS1-90 70  1NS2 120 20 1
+ A62 Dif: 610 NS:5 2HS2 110 50 1 ¢ 9652 Dif: 0 NS:1  1NN3 150 20 1
» K32 IMP: 12 EW:9 2HN2 110 50 1 » Q8 IMP: 0 EW:-1  1NN2 120 20 2
& AT82 N » Q63 3HN-1 100 00 1 ||a 754 4 Q92 2HN2 110 1.0 1
v K8753 25W2 4110 00 1 ||v KQ52 v J8 1NS1 90 1.0 3
» KT8743 + + Q5 2HS1 00 00 3 ||+ A873 * KJ INNT 0 10 1
% Q98 » T54 2HN-1 4100 00 1 ||a 54 » KT9763 1HS1 80 00 1
o ¢ VAN 4J97 3HN-2 200 -30 1 % ¢ VAN 4 AKTS 2CE-1 50 1.0 1
N 2~2~~ v QJ9% 3HS-3 300 50 1IN ~2222 ¢T74 2HN-1 50 3.0 1
S 2~2~~ ¢J9 3NN-4 400 70 1||S ~2221 QT4 3HN-2 4100 -50 1
E ~3~1~ &AJ76 3HXS-2 500 90 1||E 1 ~~~~ &AJ2
W ~3~1~ W 1~~~~
# 15 »93 4SW-1-50 Mean: 4SW-1 50 30 5 ||#16 s QJT7 4HW4 620 Mean: 4HXE-2 500 11.0 1
v 842 4HE-1-50 -60  4SE-1 50 30 1 v A932 2NE2120 o 3NE-3 300 70 1
¢ 873 Dif: 0 NS:3  4HW-1 50 30 1 + J876 Dif: 500 NS:-3 5CXE-1 200 50 1
& AK753 IMP: 0 EW:-3 4HE-1 50 30 3 &6 IMP: 11 EW:12 4HW-2 200 50 1
& AKQ75 » JT84 3SW3 140  -20 1 ||s AK984 'y 4HW-1 100 30 2
v AQ75 v KJT3 4swW4 420 -80 3 ||e J8764 — v KT5 3HW-1 100 30 2
* Q6 ¢ 54 . + K942 2NE-1 100 30 1
& Q8 » J96 » Q92 » AJ8754 2NE2 120 -3.0 1
o eVABN 462 oo VAN 46532 3HW3 140 40 1
N 22~~~ 996 N~2~~~w9Q 3CE4 130 40 1
S 22~~~ ¢AKJT92 S ~2~~~ ¢ AQT53 5CE5 600 -12.0 1
E ~~33~ &T42 E 4~3~1 a&KT3 4HW4 620 -120 1
W ~~33~ W 4 ~3 ~~




